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Chapter 1.5

Basics

• We say that

lim
x→∞

f(x) = L (1)

If f approaches L at arbitrarily large values of the argument.

• Remember

lim
x→±∞

1

xp
= 0; (p > 0) . (2)

and
lim

x→±∞
xp = Does nto exists; (p > 0) . (3)

Also none of the trigonometric limits

lim
x→±∞

sin(x), lim
x→±∞

cos(x), lim
x→±∞

tan(x) (4)

exist.

Computing limits at ∞
When dealing with rational functions, divide by the higer power

lim
x→±∞

x2 − 3

2x2 + 4x− 1
= lim

x→±∞

x2/x2 − 3/x2

2x2/2 + 4x/x2 − 1/x2
= lim

x→±∞

1− 3/x2

2 + 4/x− 1/x2
=

1

2
(5)
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